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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 4.74 59.09 | =N | 0.00 ~ 0.00| 1.66 8.91 Thlst 1.00 | 6.00 ~ 5.00 59.09 | =ns | 5.00 ~ 6.00| 1.66 8.91
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 470 58.60 | =ns | ooo ~ 470|217 11.63 Thst 1.00 | 6.00 ~ 6.80 58.60 | ThH | 5,00 ~ 680 2.17 11.63
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 470 58.60 | =ns | ooo ~ 470|217 11.63 Thlst 1.00 | 6.00 ~ 6.80 58.60 | =ns | 5,00 ~ 680 2.17 11.63
4 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 682 86.26 | =nhst | 0oo ~ 682 1.81 9.70 ZhLst 1.00 | 5.00 ~ 840 86.26 | #nLst | 5,00 ~ 840\ 1.81 9.70
5 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 682 86.26 | =nst | 000 ~ 682 1.81 9.70 st 1.00 | 5.00 ~ 840 86.26 | Ths | 5,00 ~ 840 1.81 9.70
p 100kN/m%E#8z5| 1.00 | 000 ~ 010 101.47 |3mEBZB| — ~ — — — | 100kN/m%#25% | 1.00 | 1061 ~ 1087| 101.47 |3mE#BZS - ~ — — —
s 1.00 | 010 ~ 7.89 100.00 | #nst | 000 ~ 7.89| 2.25 12.056 Thst 1.00 | 5.00 ~ 1061 100.00 | =nLSY | 6.00 ~ 1087) 2.25 12.05
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
FhList 1.00 | 0.00 ~ 685 86.68 | =nst | 0oo ~ 685 1.91 10.23 Fhst 1.00 | 6.00 ~ 888 86.68 | =hs | 5,00 ~ 888\ 1.91 10.23
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 1 0.00 ~ 4.76 59.32 | =ns | ooo ~ 476\ 1.77 9.46 Thist 1.00 | 6.00 ~ 56.00 59.32 | #hs | 5,00 ~ 6.00|1.77 9.46
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




